1/od/ dp™™ d|y™"Y [wcev]

Ratio to ATLAS

=
<
I

|
o
R

T

-
o
@

—_
<
N

107

[EEY

0.5

13000 GeV pp tt
[ ] I I I | I I I | I I I | I I |_ 9
C
tthar . . )
- pT (ATLAS semileptonic ttbar) 1z
= ==
~ m  ATLAS 5%
— —&— Pythia 8.308 default N
B Pythia 8.308 tune-1 u 52!
— k"{ Pythia 8.308 tune-2c¢ — ;
- § Pythia 8.308 tune-2m s §
B \ T
= =
[ — ™M
- o
| — 0O
(90)
—
= — =
= 3%
— 15
B -1
B - ©
- e
)
Q
I —
- Ele
— — O
B — O
I S N T IR N T N . MF
:l T T T | T T T | T T T | T T |:
= 42
AAA \ l | 1
B —0.5
| | I |
0 200 400 Otb arit 800
tbar{t} [GeV], Iy Y in [0,0.4]



	Contents
	Page 1


